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Entry Task: Let f(x) = x? — 6x + 5.
(a) Does it open upward or downward? -T
(b) What is the y-intercept? "?
(c) What are the x-intercepts?
(d) What are the x- and y-coordinates % ,_

of the vertex? “% %-m~--~+-m~*'~j;ﬁi‘“"




Graph of f(x) = x*> — 6x + 5. To do applied quadratic problems
1. Write down & simplify the given

\‘y quadratic function that the

< question is asking about.

2. Sketch a picture of the parabola.
3 Label the vertex and the zeros.
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\_/ 3. Read and answer the question.



2.2: Rates and Functional Notation

Recall: Giveny = f(x)
_ fb)—f(a)

o b—a

fO=1(0)
X
fx)

X
Now we will use functional notation!

average rate

overall average rate

diagonal slope

Example: (HW 2.2 / Problem 1)
Let f(x) = —5x — x?2.

Find the average rate of change
fromx=-6to x = 8.
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Example: (HW 2.2 / Prob 4-6)
Let f(x) =2 + x + x2.

(a) Whatis f(x + h)?
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(b) What is

f(x+h)—f(x) ,
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Example 1: A object is launched in the
air. Its distance, D(t), in miles above the
ground at time t hours is given by

D(t) = 144t — 18t2 Ry
WARM UP (general graph questions)
(a) How far does it go in the first hour?
(b) Give the largest interval over which
the distance is increasing.
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Again, D(t) = 144t — 18t?
OVERALL RATES:

(a) Find ATS at t = 4.

(b) Find the formula for ATS(t).
(c) When will ATS be 100 mph?
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Again, D(t) = 144t — 18t

INCREMENTAL RATES:

(a) Find the avérage speed over the 2
hour interval starting at t = 2.
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(b) Find the average speed over the
0.1-hour interval starting at t = 2.
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(c) Find the general formula for the
average speed over the 0.1-hour

interval starting at t. | &
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(d) Find the general formula for the
\@
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